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7B Graphing Square Root Functions

1. Look at the following function in its

different forms. VA Graph: Table of Values:
C — 1 X y
Equation: y =vx —~3+5 . 0 R
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e) How can we tell what the domain and ranoe ire by looking at the table of values?
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18. Write a square root function that has the following domain and range.

Section 7.1B

a) Domain: x5 b) Domain: x> -7 ¢) Domain: x20

Range: y=2 Range: y <10 Range: 29
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1. Look at the following function in its different forms.

[A] Graph [B] Table of values [C] Equation
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How do you know?
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e) Isthe grapl{i 1 decreasing? How can you tell from the equation?
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19. Write a cube root function that has the following qualities.
a) Point of inflection (-3,5) b) Point of inflection (4,—6) ©) Point of inflection (2,9)
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